Japan Aviation Electronics Industry, Ltd.

t@ Connector Div. Production Engineering Dept.
~— BEAMETFIERARMARS 2 BEMAERIMEH

[WISDOM#&ER  2020/10/12 | /19

DCF-S-U1Zb-1IA \uu.V4)

Page

1710

1703574

Spec:for

Original issued #hR#l7E: 27.Feb.2020

TITLE i :
Operation manual for 3502-MX80-2
3502-MX80-2 HuikiRAE

Rev. Date CN-No. Prep Chkd Appd

2 2020.10.12 | 036665 | K.KOIDE N.SAKAI

ISSUED {ERkTT

Production Engineering Dept. 4 EEHX T &R

Prepared Checked Approved |PL Approved

K.KOIDE N.SAKAI C.YANOSAKI

EFT7T)r—24 Crimping Applicator

3502-MX80-2

G754

=2

aJL

=

HA

OPERATION MANUAL

CHEIX, BHOEFT T IT—2FEBENLEIT
fREE. HUYNESTEVWET, KRIEXFTOHHRE
FRHW-EREQAVEAD VEREBFTHEHOTTY
r—A2TY, BRELGEBEERDEZSOH. KEOAREZE
THRICEFEL, ELMEEZREICTSLOBHFEWL
LET,

Thank you for purchasing our crimping applicator. This is
a applicator to crimp exposed wire and contact. In order
to obtain favorable crimped results, please fully
understand this manual and perform correct operations in
a safe manner.

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



DCF-S-0126-2A 2/\.11-%4

Japan Aviation Electronics Industry, Ltd. Number
"@ Connector Div. Production Engineering Dept. =2 T703574
SN—r"

Page

BAMZEEF TEHLM 1Ry 4 B L EERTE 2710

TIEI:C&')IZ S#EA<TZELY  Read in the Begining
BRRIZDNT Caution symbols

CORFEGBAZERVEZADERRTIL, &5 % Inthis manual, there are many caution symbols that are
REIZIELLBBELVEES, Hipt-vihe Used foryou to handle products safely and correctly so
AR~ADEROHE~ADIBEERKIZHLET S that damage to you or other people as well as properties

- ~ybEE — ot can be prevented. Be sure to read and understand the
EHIC, BRGERTETHLTVET. TO following symbols and descriptions before you read the

RBRREBKIIIDESIZH->TWVWET, AE%E text in this manual.
E(Eﬁﬁ*bfﬁ‘bzﬁj{’&& AL TIEELY,

COBRTERELTESEMYRLET 2. AT ZEEEESBRAELE
y[eN ) 3 STHELBIENERENENAEERLTOET,

DANGER This indication means that there is an immanently dangerous situation that
could lead to death or serious injury if the precaution is not followed.

CORTERBLTROEMYKZWOET HE ADNRTE-FEGEEZESTHEEAEE
ShHEABERLTLET,

WARNING This indication means that there is a potentially dangerous situation that
could lead to death or serious injury if the precaution is not followed.
CORTERERAL TRV ET HE ANGEEZRSTHRENMEESNIAE
FE EUYHREOHDRESBESAEIABTERLTVEY,

This indication means that there is a potentially dangerous situation that
CAUTION could lead to injury or some property damage if the precaution is not

followed.

BRI DB Caution symbols Examples
ARSILEE (B, EE5%&5L) {89 Aindicates that there is some content requiring
NBENHBEZEE#EHIFHELDTT, your special caution (including danger and
HoOhcEAMAEIERNES (EROESE warming levels). There is a symbol inside the
REITE) MEINTLET, triangle requiring caution. (The one on the left

indicates caution for electric shock.

OEEFZEItDITATHI I LEZEIFSHE Anoentrymark  inSicates a prohibited action.

NTT, MOROEEIZERrgs  Either inside or adjacent to the circle is the
(EROBEITSMREL) ARSI TNE drawing of the prohibited action (The one on the
+ - left indicats prohibition of disassembly)

@S XTAEZ®RAILI-Y., 873 BAZR A black circle @ indicates a required action
&5 F5120DTT, HOFIcEAKMAgER that must be taken. Inside the circle is the
NE (ERDOBAIEE LIAA TS S £ drawing of an action you must take. (The one on

U RABENTLEEL) AEANTL the left indicates that you must unplug the
4 - electrical cable.)

ﬁ)@& > B>

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



Japan Aviation Electronics Industry, Ltd.
Connector Div. Production Engineering Dept.

Jor

FERLDTER

R A
BABRHBERRIA T EEUNOKE
PEER. RROCFRORRCAYETOTH
HIZLHTFEL, BA—REEBLEY. B
BLEBBESEVLFORSEES L < X538

COEEMETITERSESZL,

BAMEBEFIEKRARM IR 2 BEEEERIMH

DCF-S-0126-2A 3\/,1'.%4

Page
1703574 310

Number
&5

‘Cautions in Handling

A\ WARNING

BMNever modify or adjust the tool in a way other
than those specified in this manual as it may lead
to damage or failure. If you see a problem or the
tool is damaged, please contact the store you
purchased the tool or our sales office near you.

®

BATEZRBREERT S LEEE, +5EHKE
EMYBRSHERZTOTLESL, FEKIZE
EERIEFTCEABYET,

MBe sure to take enough rest if you need to work
with this tool for a long time. Otherwise, it may
result in bodily injury.

N

MOV UIRRETFLEST, 2V VRETFTVEL
OROMEIEEAREDTFE L, BROR
EEBYET,

i

A\ CAUTION

BMThe crimper moves up and down. Never put
your finger into the gap between the crimper and
anvil. This may cause injury.

BMEEEShBEEIVE Y FRUEEERUSN
DLDZEEELGEVLTTSUY,

E Do not crimp anything other than applicable
contacts and wires that are designated for
crimping.

BIEOEES (V)R ZUVEWL) ITIE,
FHOBERZFY FEA,

B No lubrication is required for the crimp area
(crimper and anvil).

BIEDOFERIZIRELTE, av4 9 0Oy
TnAg FPHAFEDEHEZHEL TLSMEERL
TFEly,

M Verify that the contact crimp height meets the
required conditions prior to the usage of the tool.

JAE Connector Div. Proprietary.

Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



DCF-S-0126-2A 4\/,1'%4

Japan Aviation Electronics Industry, Ltd. Number
"@ Connector Div. Production Engineering Dept. =2 T703574
SN—r"

Page

BAMZEEF TEHLM 1Ry 4 B L EERTE 4,10

B X Table of Contents

[FCDICEFTAKTEE L e Read In The Begining=== = rrrrrrrrrrrrnanaans 2
ﬁﬁﬁto):;ﬁz%’: ................................. Cautions in Hand"ng -------------------------- 3
E;ﬂ ............................................ Table of ContentS=========sssssssssnsnnnnnnnnn 4
LAERR e 1.Specifications=====s=sssesesrennnnnnannann.. 4
2E%%1¢ ...................................... chmp'ng ConditionS====* s ssssssnansnnannns 5

-1V B REBIR - 2-1.Applicabale contacts and wires======«===- 5

2-2 BRAAVADREBEL - - 2-2.Applicabale contacts and crimper, anvil-++- 5

2_3_E%§$;’f‘.ﬂ] .................................. 2-3.Crimping data per toO|===rrs s s nnnnnaaan 5
BEBAVEILDRBEHIMT e 3.Check of The Crimped Contacts=====«==«==+- 6
AFA)VEF srrrrrmnnna 4.0il Application- === ==ssrrrrrrrrrnnrnnnaaaa, 6
5.7 T — e R - -vvrrrreraees 4.Blown-Up View of Applicator========x=ssxzss- 7
6.7 T — A B R TR e 5.Parts List of Applicator=====+srsssesassernnns 8

N

A\ CAUTION

W A B R 5 B0 = 0 #112T703000-01 A3+ Sh TLY B Check that operation manual T703000-01 is
BT EETHRLIASL, provided in addition to this manual.

BEEA DML, BHETI03000-0128<{#E  HMPlease read attached paper T703000-01 for details

Ly, of the work method.
1.4k 1.Specifications
TERK
Model 3502-MX80-2
= ¥ 4.2ke
Weight About 4.2kg
'H'./rZ W164 x D84 x H180mm
Size
EARRE JBE 0°C~40°C(#EBELIE NI
Environment of use Temperature 0°C~40°C(No Misting)
HEEFEFETLR CP215-4B 7L X Crimp Press

Applicable Crimp Press

CP215-5B LR Crimp Press

9o TinA FERE
Crimp Height Adjustment

6 EXRE E&Z 0.03mm
6step increment 0.03mm

wWESSHB

Insulation Crimp Height Adjustment

8 XM ERZE 0.1mm

8step increment 0.1mm

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.




Japan Aviation Electronics Industry, Ltd.
Connector Div. Production Engineering Dept.

BAMEEFIEKARM I RY 2 BEEEERIMER

Number
&5

1703574

Jor

2.Crimping Conditions

2-1.Applicabale contacts and wires
Refer to the following table for applicable contacts and
applicable wires. Please contact us if you plan to
crimp cables other than the designated ones.

2.EEEH
2-1.EHAa 2O ERER
JEFF]ZI./QO I‘t %?‘i?nﬂi%/,“<f'é
W BENDT—TILEEZESNDBES(E, ¥
HETBELEDLECESLY,

& BEAER Applicable Wire R
. E3
TARA A2k ‘ e WEHE RS
Applicable ERFELE Stripped
Tool name Fa.ib) Insulati
contact Wire type nsulation length
diameter
MX80P10K5F1 FLCUSNRYO0.13sq ®1.1mm
MX80S08K5F1 FLRY-A0.22sq @1.15mm
AESSX0.3f ®1.4mm
FLRY-A0.35sq ®1.25mm
MX80P10K4F1 FLRY-B0.35sq @1.3mm
3502-MX80-2 MX80S08K4F1 3.5~4.0mm
FLRY-AO0.5sq ®1.5mm
FLRY-B0.5sq ®1.5mm
FLRY-A0.75sq @1.8mm
MX80P08K3F1
FLRY-BO0.75s .
MX80SO08K3F1 a ¢1.8mm
FLRY-B1.0sq @2.0mm

2-2.Applicabale contacts and
crimper, anvil

2-2 B2 R

. EAwE Applicable crimper and anvil
BRI op s WBAR—Y
Applicable WETENL WEI N SER7UE I BRI neulation
contact Insulation anvil | Insulation crimper Wire anvil Wire crimper
spacer

MX80P10K5F1 | 725-03574-030-05 | 725-03574-032-05 | 725-03574-031-05 |725-03574-033-05| 711-03580-036
MX80S08K5F1 (574-30-05) (574-32-05) (574-31-05) (574-33-05) (580)
MX80P10K4F1 | 725-03574-030-04 | 725-03574-032-04 | 725-03574-031-07 |725-03574-033-07| 711-03111-036
MX80S08K4F1 (574-30-04) (574-32-04) (574-31-07) (574-33-07) (111)
MX80PO08K3F1 | 725-03574-030-06 | 725-03574-032-08 | 725-03574-031-08 |725-03574-033-08| 711-03609-036
MX80S08K3F1 (574-30-06) (574-32-08) (574-31-08) (574-33-08) (609)

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



Jor

Japan Aviation Electronics Industry, Ltd.
Connector Div. Production Engineering Dept.

BAMEEFIEKARM I RY 2 BEEEERIMER

Number

== | 1703574

2-3.E G 2-3.Crimping data per tool
il BiEsE DU T A MR HESEES E
H H H X1 H i X2 i X3
Contacts Wire type Crimp height Range Insulation height Crimp strength
50N L E
FLCUSNRYO0.13s ~
MX80P10K5F1 d 0.67~0.73mm 1.3 mm 50N min
MX80S08KS5F1 FLRY-A0.22sq 0.63~0.69mm 1.4 mm 30N L,U:
30N min
AESSXO0.3f
50N L E
FLRY-AO0.35sq 0.75~0.81mm 1.6 mm .
MX80P10K4F1 FLRY-BO0.35sq 50N min
MX80S08K4F1 FLRY-A0.5sq 0.82~0.88 18 75N KL E
FLRY-BO0.5sq : -oemm -omm 75N min
AESSX0.75
90N KL E
FLRY-AOQ.75sq 0.90~1.00mm 2.25mm .
120N min

A =3
=]
A YN

/\ CAUTION

The crimp height standard value is the crimp
height when the above applicable wire is crimped
together. This is the established crimp height
when crimping is conducted with ourl crimping
applicator. Therefore, we cannot guarantee the
result if crimping is performed with a crimp tool
manufactured by other company.
The insulation height is a reference value.

For other than 0.13sq, the crimping strength is the
tensile strength when only the conductor of the
wire is crimped.
0.13sq is the value including insulation.

When this tool is used, the crimp strength in the
para.2-3 table will be satisfied.

X1 DUVTNAMRBER. AIZERAEREAN
TEBELEEHEEDDITNAATT,
T RKOUDTNANE  BHOEBFT T )T
—RITREEL-BEDREMETHY. et
TREESNSEEFRIETEFEA,

X1

X2 WEEETEIISEETY, %2
X3 0.13sqUUMNMN T ERDERIBDAZEEELI-FF %3
DEREYBENEFRETT,
0.13sqlI B BB EHNESATZETT,
AIE#FRALIBE. 2-3ERODEERES
WRELTLET,

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



Japan Aviation Electronics Industry, Ltd.

Jor

.EFAVARILD BE IR
ABETIE, EE3V27 FORB. FR&IZD
WTERBALE 9

Connector Div. Production Engineering Dept.
AAMEEFIEMRKSH ORI I ZEEERME

DCF-S-0126-2A 7\/,1'.(54

Page
1703574

Number

'S 7710

3.Check of the Crimped Contact

It explains the good item and rejects of the crimping
contact.

NILY IR
Bell mouth

Fw

HERALIL
Wire barrel

YT FIng b wWE/NLIL

Crimp height Insulation barrel

ELKEEFESNF-a2 29k Proper Crimped Contact
Q) HYTNAD ., BIEY A XI2&BIEETERN | (1)  Crimp height is satisfied with crimp standard.(refer to
THbd, 2QIEBHR) para.2)
(2) BEEEEABENALILEYETNAIE, (2) Wire strands tip is extended from the wire barrel.
(3) BERALILAIZHEIBLVAATNVENIE, | (8)  Wire insulation does not intrude into the wire barrel.
(4)  BEHSNLILDBIEHZLTULVELT S, (4) Wire strands do not protrude between the wire barrel
and the insulation barrel.
(5) HENLILRIZEBELNELINTNEIE, (5)  Wire insulation is wrapped in the insulation barrel.
(6) ANIIVRGEBEREFI) AHDL, (6) Bell-mouth(not crimped part)is formed.
(7) EFEIABEISHENA TS, (7)  Crimped surface is not got too rough.
(8) ZofhaRIAHRLAHEFELTNSIL, (8) Crimped contact is satisfied with other specifications of
connector product.
FEEE Note
¥ ARBICEHIATOWSREDF., — L RER X This paragraph is a general quality standard. For

HETT, FOMEEMIDO=ELTIL. MX80SY)
— AR ERAEIAHL-11280% S BT
0y,

JAE Connector Div. Proprietary.

Copyright © 2020, Japan Aviation Electronics Industry, Ltd.

product check other than crimping , refer to MX80
Series connector assemble manual No. JAHL-11280.




DCF-S-0126-2A 8\/,1'.%4

h Japan Aviation Electronics Industry, Ltd Numb Page
' : umber
"/AE Connector Div. Production Engineering Dept. =31 T703574
~ BAMEEF TEHXM DR 2 BEEEE R 8710

5.7 7 ) r—AE S E 5.Blown-Up View of Applicator

AT

B ¥
R S
7

oy

Il
¢
=
oL [
AT o N
=
; ] - g
=1 B
B
; i
S o
g 5
i >
g F vt
&
\
v 3

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



6.7 TV r—SBHHRE SR

Japan Aviation Electronics Industry, Ltd.
Connector Div. Production Engineering Dept.

BAMEEFIEKARM I RY 2 BEEEERIMER

Number
&5

1703574

6.Parts List of Applicator

= HEES wg HOXR
No. Description Parts No. QTY
replacement
1 TIN5 —AaRk Applicator body 743-03344-001 1 X
2 R—XFL—k Base plate 722-03344-002 1 X
3 ASARKHARE Left slide guide 722-03005-003 1 X
4 ASAKHALE Right slide guide 722-03004-004 1 A
5 avAagrEYE Contact feed plate 722-03005-005 1 X
6 Ty Adjusting plate 743-03004-006 1 x
8 AIRAERD Adjusting screw 701-03004-008 1 X
9 FI)r—RiEHRD Applicator set screw 750-03004-009 2 X
10 SEYL/— Feed lever 742-03005-010 1 X
11 B/ —Ef Feed lever shaft 708-03005-011 1 X
12 SYMAILE Feed finger holder 734-03004-012 1 X
13 ZEYm Feed finger 732-03004-013 1 X
14 ERvkIvia Pivot bush 710-03005-014 1 X
14-01 ERyrT vy gl Front pivot bush 710-03344-014-01 1 X
15 aVAJNMRZ Contact pressure plate 723-03005-015 1 x
16 ZEYREY Pin for feed 704-03005-016 1 x
18 FEYEHINN— Feed plate cover 722-03566-018 1 X
19 ERvkIOovsy Pivot block 743-03344-019 1 X
20 YIrAL=yk Lift cam unit 700-03004-020 1 A
21 BV 1k HF— Key 723-03004-021 1 A
22 aA—S—E> Roller pin 704-03004-022 1 X
23 a—5— Roller 711-03004-023 1 X
24 EYERBIN L Feed actuating cam 741-03006-024 1 A
25 LUMIAY %) Crimper holder 743-03344-025 1 X
26 JVAVMRZ AARY Screw for contact hold 701-03004-026 2 X
28 FHOF1I—HRI1=vk Front actuator unit 700-03424-028 1 A
29 CIEvbE Movable cutter 726-03574-029 1 O
30 wETUEL Insulation anvil 1 o
31 SET7UE L Wire anvil 2-2I5 SR 1 @)
32 wES) N Insulation crimper Refer to Table of 1 @)
paragraph 2-2
33 s 27 TA Wire crimper 1 )
34 EYEREIL /\— Feed actuating lever 742-03004-034 1 X
35 FoEILTOyY Anvil block 743-03574-035 1 X
2-2IES R
36 WEBEAR—Y Insulation spacer Refer to Table of 1 A
paragraph 2-2
37 FEYINRTSHr vk Feed spring bracket 744-03005-037 1 A
38 RY/\x Twisted spring 762-03004-038 1 X
39 DAY AyN Wire stopper 700-03574-039 1 X
40 e SR = Feed adjusting shaft 708-03004-040 1 X
43 FEYINH Feed spring 762-03004-043 1 A
44 DL )z TAE S Cultter spring 762-03004-044 1 @)
45 HyRTavsy Cutter block 743-03021-045 1 @)
46 RO a+— Positioner 727-03574-046 1 A
47 WEHLIEDARD Set-screw for insulation cam 701-03004-047 1 A
48 WEHLI=ZYR Insulation cam unit 700-03344-048 1 A
49 WEHLEA/N Spring for insulation cam 762-03004-049 1 A
50 DUDTINANRET4RY Crimp-height adjusting disk 715-03344-050 1 A
51 AR NBRZ A Contact pressure spring 762-03004-051 2 A
52 TSIk Pullshaft 708-03344-052 1 A
54 SEROR—IL Locating ball 765-03004-054 2 A
55 PIEROAR— LR/ Locating ball Spring 762-03004-055 2 A

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



(-\ Japan Aviation Electronics Industry, Ltd. Number
JAE Connector Div. Production Engineering Dept. 3!
~ BAMZEEFIERASH O RY 2 LI EBME
5 HEES wg (PRI
No. Description Parts No. QTY
replacement
58 $ahR Name plate 775-03540-058 1 x
59 FEYEEEREY Y E-ring for feed adjusting shaft 754-03004-059 1 A
60 HLEFEEY YT E-ring for cam shaft 754-03004-060 1 A
61 AR AEY Pin for adjusting screw 752-03004-061 1 X
62 BEAN—EFRILE Bolt for safety cover 701-03005-062 1 A
63 REHN— Safety cover 748-03344-063 1 A
64 EHRY Fastening screw 701-03005-064 1 A
65 HhS5— Collar 711-03005-065 1 A
70 FHFLT—RELTOVY Actutor back block 743-03570-070 1 A
71 THOF1T—HR% Rear actuator 719-03574-071 1 A
72 RTYY Spring 762-03574-072 1 A
73 TFHOFaT—4TOvoh/N— Actutor block cover 721-03570-073 1 A
74 +FIFEM AR OMIX6 Counter sunk screw 793-03570-074 1 A
75 RO azZ ) J4a— Positioning lifter 743-03570-075 1 A
76 JI75—#|EZ Lifter retainer 722-03570-076 1 A
7 NATSTIESH A CHEFEMIXS Hex socket set screw M3X8 793-03570-077 2 A
78 NAEF VM3 Hex nut M3 793-03570-078 1 A
80 y s Spring 762-03570-080 1 A
81 NAFUTRILE Bolt with hexagonal hole M4 X 20 2 A
82 NATSIRILE Bolt with hexagonal hole M8 X 25 1 A
89 PLY—IL PL seal 775-09004-011 1 A
501 FNANSTIEDHRLE Screw with hexagonal hole M4 X 4 4 A
502 NARFRILE Bolt with hexagonal hole M2 x5 1 A
503 NARFRILE Bolt with hexagonal hole M3 x 8 2 A
504 NATATRILE Bolt with hexagonal hole M4 X 5 2 A
505 NATATRILE Bolt with hexagonal hole M4 X 8 8 A
506 NAFUTRILE Bolt with hexagonal hole M4 X 12 2 A
507 NAFUFRILE Bolt with hexagonal hole M4 X 15 3 A
508 NATTRILE Bolt with hexagonal hole M5 x 10 1 A
509 NATTRILE Bolt with hexagonal hole M6 x 15 3 A
510 NARFRILE Bolt with hexagonal hole M6 x 35 1 A
511 IvoEY Knock pin $5x10 2 x
512 JvoEY Knock pin ¢ 6x15 2 X
513 &A=/l Small screw with washer M4 x 10 1 A
514 ETv Washer M4 4 A
515 ETv Washer M8 1 A
516 RTYTIyx Spring washer M6 4 A
517 AT Ty v Spring washer M8 1 A
KORMBES ¥ Part replacement
O : HEHM O : Expendable parts
HEBETY, It is an expendable parts.

A : Interchangeable parts

They are parts exchangeable of customer.
X : Parts for the repair

We do not recommend customer replacement..

A RHRTTREER &
BERICTRIBARELIR T,
X SR G ER &
BERTORBEHELEEA,
X O FHIBZaAVEIRZKYSY R, TUEL
n. BHYFET,
F7Ur—RI12IE, BEEW=0V4%9 FEDY
Yo, TUVELARYFIFONET,
2 BULEOEARKEDOVEY CEEBT R15
Bl Bl&S YR, PUEL, HEBERAR—H—
EBALTTSL,

X It's different in Crimper and Anvil depending on used
contact.
Crimper and Anvil for contact you designated are
installed in the applicator.
When crimping two or more types of contacts with
different crimper types, purchase a crimper, anvil, and
insulation spacer separately.

JAE Connector Div. Proprietary.
Copyright © 2020, Japan Aviation Electronics Industry, Ltd.



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

JAE Electronics:
C2777-3502-MX80-2



https://www.mouser.com/jae-electronics
https://www.mouser.com/access/?pn=C2777-3502-MX80-2

